SHIP



State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for REGNUMBER

DP\$1205

TARA LYLE 304-558-2544

RFQ COPY TYPE NAME/ADDRESS HERE Hume Depot 100 crossTerrice Blvd. Sout Chaloston wu 25309

WEST VIRGINIA STATE POLICE

ADDRESS CORRESPONDENCE TO ATTENTION OF

4124 KANAWHA TURNPIKE SOUTH CHARLESTON, WV 304-746-2141 25309

| DATE PRINT | FO. | * TEAX | AS OF SALE | 9HPV | A. 3 10 2 | FQ.8 | FREIGHT TEAMS |
|-------------------|--|------------------------------------|------------------|----------------------------|--------------------------|---------------|--------------------------|
| 10/09/ | | | | | D 44 Pb | ARRIVINA TYME | 01.2004 |
| BID OPENING DATE: | 2 11 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 | 10/18/2 | | Angenetica was con- | 397.5 POWN PORTON STORES | OPENING TIME | |
| | 2. TO TO 10/ | ADI ISED B MOVE TI 18/201 | L. | l TTACHED. NING DATE | | 507 | AMOUNT |
| | DOCUME | NT SHO FAILUR LIFICA | ULD BE SIG | AND RETUR | ETURNED | WITH YOUR | |
| 0001 | VARIOU | 1 | LS DING MATER | 450~58 | | | |
| | **** | THIS | | | [Date | 205 ***** TO | OF OF A VEN |
| | | | Co./Dept. | <u> </u> | Fro Co. Pho | m ara | 2011 OCT 18 PM 1: 0 |
| SIGNATURE | | | | SV-746- | | | DWSION DATE 10-18-11 |
| TITLE - 1 | 1 | FE | (N): | | | ADDDESO | HANGES TO BE NOTED ABOVE |
| OTTS | 1 | | | | | | LABELED 'VENDOR' |



VEZDOR

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

25309

Request for Quotation

S H P

T

DPS1205

ADDRESS CORRESPONDENCE TO ATTENTION OF:

| - A. P. Landerson | | _ |
|-------------------|------|---|
| TARA | LYLE | |

304-558-2544

*403134016 304-744-9501 HOME DEPOT THE 100 CROSS TERRACE BLVD

SOUTH CHARLESTON WV

WEST VIRGINIA STATE POLICE

4124 KANAWHA TURNPIKE SOUTH CHARLESTON, WV

304-746-2141 25309

| DATE PRIN | TED | TER | MS OF SAL | .E | SHIP VIA | | F.O.B. | FREIGHT TERMS | |
|-------------------|---|--|----------------------------------|--------------------------------|--|-----------------------------|--|-----------------------|--------|
| 09/19/ | | | | | | | | | |
| BID OPENING DATE: | L OCAL AND COLLECTION | 10/13/ | 2011 | Local Castler | sana ana ana ana ana ana ana ana ana ana | BID (| OPENING TIME | 01:30PM | alokes |
| LINE | QUAN | YTITY | UOP | CAT. NO. | ITEM NUMBE | R | UNIT PRICE | AMOUNT | |
| 0001 | VARIOU | 1 | LS DING | | 450-58 IALS | | | | |
| | | OP | EN – EN | D CON | TRACT | | | | |
| * | AGENCY | ST VIR , WV S' E BUIL | GINIA TATE DING | PURC POLIC | HASING DIVI E, IS SOLIC IALS PER TH | CITING | BIDS TO | 2 E EN | |
| | BUSINE USPS, VENDOR QUESTI | N QUES SS ON FAX, C RECEI ONS WI | 09/29 OURIE VES A LL BE | /2011 R OR N UNF ANSW | QUESTION E-MAIL. IN AIR ADVANTA ERED ORALLY | IS MAY I ORDER GE, NO I. IF | IL CLOSE OF BE SENT VIA R TO ASSURE NO D SUBSTANTIVE POSSIBLE, SS INQUIRIES TO | | |
| | TARA L' DEPARTI PURCHA 2019 W. CHARLE | YLE MENT O SING D ASHING STON, | F ADM IVISI TON S WV 25 | INIST ON TREET 305 | RATION EAST | ADDKE | S INQUIRIES 10 | | |
| | EMAIL: | TARA | L.LY | | VERSE SIDE FOR TEF | MS AND CO | | NE (C) (C) | |
| SIGNATURE | - La | 9 | | | TE . | 3 | 04-744-9501 | 10-18-11 | |
| TITLE | γ | F | EIN | | • | | ADDRESS CHANG | GES TO BE NOTED ABOVE | |



VEZDOR

*403134016

HOME DEPOT THE

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

304-744-9501

Request for **Quotation**

S H I P

ŏ

RFQ NUMBER
DPS1205

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF:

TARA LYLE 304-558-2544

WEST VIRGINIA STATE POLICE

SOUTH CHARLESTON WV 25309

100 CROSS TERRACE BLVD

4124 KANAWHA TURNPIKE SOUTH CHARLESTON, WV 25309 304-746-2141

| DATE PRINT | red | TER | MS OF SAL | E | SHIP VIA | | F.O.B. | | FREIGHT TERMS |
|-------------------|--|---|---|------------------------------|--|---|--|-------------------|----------------|
| 09/19/ | 2011 | | | | | | | | |
| BID OPENING DATE: | | 10/13/ | 2011 | | | BID (| PENING TIME | 01:30 | PM |
| LINE | | NTITY | UOP | CAT. NO. | ITEM NUMB | ER | UNIT PRICE | | AMOUNT |
| 11 | EXHIBI | | | | | | 404 DDDDCTTUD | 0.17 | 11 |
| | AWARD YEAR O NECESS ORIGIN NOT EX TIME" REASON | AND EX R UNTI ARY TO AL CON CEED T THE VE | TENDS L SUC OBTA TRACT WELVE NDOR GIVIN | FOR H "RE IN A TH (12) MAY T | A PERIOD ON ASONABLE TO NEW CONTRAGE "REASONA" MONTHS. | F ONE IME" TE CT OR E BLE TIN DURING HIS CO | HEREAFTER AS | IS ALL ABLE | |
| | IN THI | S CONT G SET | RACT : | DOCUM | | ERMS, | TED ELSEWHERE CONDITIONS AND FE OF THE | | |
| | WRITTE SUBMIT DAYS P BE IN ORIGIN | N CONS TED TO RIOR T ACCORD | ENT OF THE SANCE STRACT | F THE DIRECT EXPI WITH AND | SPENDING TOR OF PUR RATION DAT THE TERMS | UNIT AI CHASING E. SUG AND COI | JPON THE MUTUAND VENDOR, THIRTY (30) CH RENEWAL SHANDITIONS OF THE | ALL HE | |
| | RIGHT NOTICE SUPPLI | TO CAN TO TH ED ARE | CEL T. E VEN. OF A | HIS C DOR I N INF | ONTRACT IM F THE COMM ERIOR QUAL | MEDIATI ODITIES ITY OR | NG RESERVES THELY UPON WRITS AND/OR SERVED DO NOT CONFOLO ONTRACT HEREIN | TEN ICES RM | |
| | AUTHOR MARKET | IZE A | SPEND OUT T | ING U HE FI PECIF | NIT TO PUR | CHASE (REQUIS: S CONTI | RCHASING MAY ON THE OPEN ITION OR COST RACT FOR | | |
| SIGNATURE // ~ | | 1-4 | | SEE HE | | | | DATE 100 | m 13 |
| 9 | - of | | | | | 30 | 4-744-9501 | | 18-11 |
| TITLE SASI | 1 | | EIN | | | | ADDRESS CH | ANGES TO | BE NOTED ABOVE |



MODERA

*403134016

HOME DEPOT THE

100 CROSS TERRACE BLVD

SOUTH CHARLESTON WV

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

304-744-9501

25309

Request for Quotation

RFQ NUMBER DPS1205 PAGE

3

ADDRESS CORRESPONDENCE TO ATTENTION OF:

TARA LYLE

304-558-2544

WEST VIRGINIA STATE POLICE

SHIP č

4124 KANAWHA TURNPIKE SOUTH CHARLESTON, WV 25309 304-746-2141

| DATE PRIN | ITED | TER | MS OF SAL | E | SHIP VIA | F.O.B. | FREIGHT TERMS |
|------------------|--------------------------------------|--------------------------------------|-------------------------------------|--|---|--|-----------------------|
| 09/19/ | | | | | | | |
| BID OPENING DATE | : | 10/13/ | 2011 | Party-Electric | BID | OPENING TIME (|)1;:30PM |
| LINE | QUA | NTITY | UOP | CAT. | ITEM NUMBER | UNIT PRICE | AMOUNT |
| | CAUSES PORTAT OF WOR | (INCL ION OR | UDING AN U | BUT NANTI | EMERGENCIES DUE NOT LIMITED TO D CIPATED INCREASE | ELAYS IN TRANS- IN THE VOLUME | |
| * | APPROX THE ST THAT T ORDERE | IMATIO ATE SP HE CON D FOR | NS ON ENDIN TRACT DELIV | LY, B G UNI SHAL ERY D | LISTED IN THE RASED ON ESTIMATE T. IT IS UNDERS L COVER THE QUAN URING THE TERM CHAN THE QUANTITI | S SUPPLIED BY TOOD AND AGREED TITIES ACTUALLY F THE CONTRACT, | |
| 0 | WRITTE THE VE THE OR VENDOR MAILED | EN STATENDOR FOR IGINAL AS AU | E CON'OR CO'OR COPY THORI E PUR | TRACT MMODI OF T ZATIO CHASI | ENDING UNIT(S) S ORDER (FORM NUM TIES COVERED BY HE WV-39 SHALL B N FOR SHIPMENT, NG DIVISION, AND NG UNIT. | BER WV-39) TO THIS CONTRACT. E MAILED TO THE A SECOND COPY | |
| 1 | FOR BA | NKRUPT | CY PRO | OTECT VOID | ENT THE VENDOR/CION, THE STATE MAND TERMINATE | AY DEEM THE | Ca To a Lot E. |
| | SHALL CONDIT DOCUME AGREEM | SUPERS TONS W NTS SU ENTS O | EDE AI HICH I CH AS R MAII | NY AN MAY A PRIC NTENA | NS CONTAINED IN D ALL SUBSEQUENT PPEAR ON ANY ATT E LISTS, ORDER F NCE AGREEMENTS, AS CD-ROM. | TERMS AND ACHED PRINTED ORMS, SALES | |
| | | 5/26/2 | | | - CARTONS | | |
| | | | | | TCATIONS NAMED H | | |
| | T 110 | | | SEE RE | VERSE SIDE FOR TERMS AND CO | ONDITIONS | |
| SIGNATURE 4 | N | 1 4 | > | | TELEPHONE | 94-744-9501 DAT | 10-18-11 |
| TITLE SAC | ids 4 | VF | EIN | | | | SES TO BE NOTED ABOVE |



MODZEN

*403134016

HOME DEPOT THE

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

304-744-9501

Request for Quotation

SHIP

T

RFQ NUMBER DPS1205 PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF:

TARA LYLE

304-558-2544

WEST VIRGINIA STATE POLICE

SOUTH CHARLESTON WV 25309

100 CROSS TERRACE BLVD

4124 KANAWHA TURNPIKE SOUTH CHARLESTON, WV 25309 304-746-2141

| DATE PRIN | TED | TER | MS OF SAL | E | SHIP VIA | F.O.B. | FREIGHT TERMS |
|---------------------------------------|---|---|---|--|--|---|-------------------|
| 09/19/ | 2011 | | | | | | |
| BID OPENING DATE: | | 10/13/ | 2011 | | BID (| OPENING TIME 01, | :30PM |
| LINE | QUAI | NTITY | UOP | CAT. NO. | ITEM NUMBER | UNIT PRICE | AMOUNT |
| | PARTIC ALTERN LITERA INFORM REJECT TO WAI IN ACC VIRGIN PURCHA CURREN IS ISS MUST A | ULAR BEATES SETURE AT ION OF MINGORDANCE IA LEGET TO THE COEPT OF THE COEPT OF THE COEPT OF THE COEPT OF THE SING CARREST OF THE COEPT | RAND HOULD ND SP FOR A THE OR IR E WIT ISLAT ARD A ROUGH THE S' | OR VE. SO S' ECIFI NY AL' BID. REGUL. H SEC' IVE R' CCEPT. S A V A BAI | FION 148-1-4(F) (ULES AND REGULAT: ANCE: THE STATE ISA PURCHASING CANCE. OF WEST VIRGINIA | HO ARE BIDDING PERTINENT E TO PROVIDE GROUNDS FOR VES THE RIGHT OR SPECIFICATIONS OF THE WEST IONS. OF WEST VIRGINIA ARD PROGRAM WHIC FUL VENDOR VISA PURCHASING | |
| | AGENCY THIS T VERSIO | AS A (EAM EX) N WHIC | CONDI' VEND | TION OR PRINCE HAS INVAIL | L ORDERS PLACED IDF AWARD. EFERENCE CERTIFICE BEEN REPLACED BY ABLE HERE: /ADMIN/PURCHASE/ | CATE THE ONLINE | 7 V |
| | D P B | EPARTM URCHAS UILDING | ENT O | F ADM IVISIO TON S' WV 2 | UBMITTED TO: INISTRATION DN TREET, EAST 5305-0130 | | |
| i i i i i i i i i i i i i i i i i i i | | 1 | 9 | SEE RE | VERSE SIDE FOR TERMS AND CO | | |
| SIGNATURE | - vet | | | | TELEPHONE | 104-744-9501 DATE | 0-18-11 |
| TITLE SASA | 1 | F | EIN | | | ADDRESS CHANGES | TO BE NOTED ABOVE |



State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for Quotation

RFQ NUMBER DPS1205 PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF:

TARA LYLE

304-558-2544

WEST VIRGINIA STATE POLICE

SHIP ŏ 4124 KANAWHA TURNPIKE SOUTH CHARLESTON, WV 25309

304-746-2141

| | *403134016 304-744-9501 | |
|---|---|--|
| | HOME DEPOT THE | |
| | *403134016 304-744-9501 HOME DEPOT THE 100 CROSS TERRACE BLVD | |
|) | SOUTH CHARLESTON WV 25309 | |

| DATE PRINTED | | TERM | IS OF SAL | E | SHIP VIA | F.O.B. | FREIGHT TERMS |
|--------------------------------|--------|---------|-----------|-------------|----------------------------------|--|--|
| 09/19/20: BID OPENING DATE: | 11 | | | | | | The second secon |
| BID OPENING DATE: | 10 | /13/2 | 011 | | BID C | PENING TIME | 01;30PM |
| LINE | QUANTI | ry | UOP | CAT, NO. | ITEM NUMBER | UNIT PRICE | AMOUNT |
| | | | | | THIS INFORMATION MAY NOT BE CONS | | OF |
| SEA | ALED B | ID | | | 70 | ř , · · · · · · · · | |
| BU | YER: | | | | -TL/32 | | |
| RF | Q. NO. | : | | | -DPS1205 | | |
| BII | O OPEN | ING D | ATE:- | | -10/13/2011 | | |
| ВП | O OPEN | ING T | IME:- | | -1:30 PM | | |
| | | | | | MBER IN CASE IT G YOUR BID: | IS NECESSARY | |
| COI | NTACT | PERSO | N (PI | EASE | PRINT CLEARLY): | | |
| | | | | | | | |
| * * : | *** | THIS | IS TH | E ENI | OF RFQ DPS12 | 05 ***** TOT. | AL: |
| | | 1 / | | SEE RE | VERSE SIDE FOR TERMS AND CO | NOITIONS | |
| SIGNATURE | | // | | | TELEPHONE | ************************************** | DATE 10-18-11 |
| TITLE | - Vm | J FE | in | | 301 | 400000 | NOTE TO BE NOTED ABOVE |
| 21504 | | 0 | | | | | ANGES TO BE NOTED ABOVE |
| WHEN | RESPO | VDING 7 | TO REQ | . INSER | T NAME AND ADDRESS | IN SPACE ABOVE LA | BELED 'VENDOR' |

DPS1205

The West Virginia State Police are soliciting competitive bids for the purchase of building materials for facilities throughout the State of West Virginia. The agency has approximately 62 facilities throughout West Virginia and has construction and maintenance personnel who perform a variety of maintenance and repairs on these facilities.

The vendor will provide quotes per item on the attached list for bidding purposes. On any items, the vendor will provide the agency a percentage mark-up over cost on all building and maintenance materials including, but not limited to wood products, roofing products, windows, doors, adhesives, nails, staples, screws, pipes, plumbing fixtures, vinyl siding, gutters, down spouts and attachments.

DELIVERY

Delivery time on In-Stock items shall be within 24 hours upon order or after instruction by owner. Delivery must be included and accounted for in the percentage mark-up stated on the bid form.

REGIONS

For bidding purposes the State is being broken down into thirteen county regions.

- #1 Hancock, Brooke, Ohio, Marshall
- #2 Wetzel, Monongalia, Preston, Tyler, Marion, Harrison, Doddridge, Taylor
- #3 Morgan, Berkeley, Jefferson
- #4 Grant, Hampshire, Mineral, Hardy
- #5 Wood, Ritchie, Wirt, Pleasants
- #6 Gilmer, Braxton, Barbour, Lewis, Upshur,
- #7 Tucker, Randolph, Pendleton, Webster, Pocahontas
- #8 Jackson, Mason, Putnam
- #9 Calhoun, Clay, Roane, Kanawha
- #10 Cabell, Wayne, Lincoln, Boone, Logan, Mingo
- #11 Nicholas, Fayette

#12 - Greenbrier, Monroe, Summers

#13 - Raleigh, Wyoming, McDowell, Mercer

GENERAL

This attached list is not all inclusive but is for evaluation purposes only. Any material that can be purchased from the vendor will be made available to the agency at the discounted bid prices.

Items may be ordered from this contract as long as they are not covered by any other Statewide Contract.

PAYMENT

Vendor must accept the State of West Virginia Purchasing Card (P-Card Visa) for payment. Purchases made by State Agencies are exempt from sales tax.

EVALUATION AND AWARD

Vendor will provide a current cost per item, and a price with the percentage mark-up over cost.

Estimated quantities are for bidding purposes only, more or less may be purchased by the agency.

Contract award will be per region. Should a vendor be low bidder in more than one region, there will be one contract awarded to that vendor, with the regions won included in the contract.

PIGGYBACKING

All other government agencies may purchase from this contract.

BIDDING LOCATIONS

| (Please mark the region | in | which | you | are | bidding) | |
|-------------------------|----|-------|-----|-----|----------|--|
|-------------------------|----|-------|-----|-----|----------|--|

| #1 | | | |
|-----|---|--|--|
| #2 | | | |
| #3 | | | |
| #4 | | | |
| #5 | | | |
| #6 | | | |
| #7 | | | |
| #8 | _ | | |
| #9 | | | |
| #10 | | | |
| #11 | / | | |
| #12 | | | |
| #13 | | | |

*NOTE – if pricing structure is different per region, a separate bid per region shall be submitted identifying the region.

AUDIT

The agency, State Auditor's Office and any other government agency that may purchase from this contract, may at any time, audit the winning vendor's invoices from the suppliers, to verify cost compared to cost on invoices charged to the agency. The vendor must make all documents available within 2 hours of a notice of intent to audit.

| ITEM # | DESCRIPTION | APPROX. ANNUAL USAGE | UNIT | % Mark Up | 9 EXTENDED COST |
|--------|---|----------------------------|-------------------------------|--------------|--|
| 1. | 1" Pine Lumber #2 Grade | USAGE | | • | |
| 1. | Lengths | | | | |
| | 8" &' × 6" 10" 0' × 8" 12" \frac{1}{2}' × 10" 16" 6' × 10" | 100 | 3,00 | | 300,00 400,00 100,00 1,570,00 |
| | 10" 10' ×8" | 100 | 4.00 | | 400,00 |
| | 12" 19' × 10" | 100 | 7.00 | | 100.00 |
| | 16" 16' × 10" | 100 | 15.70 | | 1,570,00 |
| K | 10 0 2 10 | | | | |
| | Widths | | | | |
| | 6" | 100 | 0 | | |
| | 8" | 100 | 1// | | 1 |
| | 10" Levised | 100 | 14 | e VISE | d |
| | 12" | 100 | | | |
| | | | | | |
| 2. | 2 x 4 Construction Spruce/Pine/Fir | | | | |
| | Pre-Cut Studs | 500 | 2.45 | | 1,225,00 |
| | 8' | 300 | 2.45 | | 735,00 |
| | 10' | 300 | 2.90 | | 870,00 |
| | 12' | 300 | 2.45 2.90 3.91 | | 1,173,00 |
| | 14' | 200 | 4.57 | | 914,00 |
| | 16' | 100 | 5.22 | | 1,225,00 735,00 870,00 1,173,00 9/4,00 522,00 |
| 3. | 2 x 6 Construction Spruce/Pine/Fir | | | | |
| | 8' | 200 | 4,37 5,37 6,32 7,38 | | 874.00 1,054.00 1,264.00 |
| • | 10' | 200 | 5.27 | | 1,054,00 |
| | 12' | 200 | 6,34 | | 1,264,00 |
| | 14' | 100 | 7.38 | | 738,00 |
| | 16' | 100 | 8.43 | | 843,00 |
| 4. | 2 x 8 Construction Spruce/Pine/Fir | | = 12 | | 1 |
| | 8' | 200 | 5, 22 | | 1,044,00 1,306,00 1,566.00 913.00 1,044,00 |
| Min- | 10' | 200 | 6.53 | | 1,306,00 |
| | 12' | 200 | 1.83 | | 1,566,00 |
| | 14' | 100 | 6,53 7,83 9,13 10,44 | | 913,00 |
| | 16' | 100 | 10.44 | | 1,099,00 |
| 5. | 2 x 10 Construction Spruce/Pine/Fir | 100 | C 48 | | TUC- CO |
| | 8' | 100 | 6.48 | | 678,00 |
| | 10' | 100 | 8,10 | | 010,00 |
| | 12' | 200 | 9,72 | - | 1,79% |
| | 14' | 100 | 12,96 | | 648,00 810,00 1,944,00 1,134,00 1,396,00 |
| - | 16' | 100 | | | 1,016, |
| 6. | 2 x 12 Construction Spruce/Pine/Fir | | - III | | m d . m. m. |
| | 8' | 100 | 9,41 | | 941.00 |
| | 10' | 50 | 11.76 | | 941.00 588,00 1,412,00 517,50 |
| | 12' | 100 | 14,12 | | 1,412,00 |
| 100 | 14' | 50 | 10.35 | 1 | 211,50 |

| ITEM # | DESCRIPTION | APPROX. ANNUAL USAGE | UNIT | % Mark Up | EXTENDED |
|--------|---|----------------------------|--------------------------------------|--------------|---|
| | 16' | 50 | 18.82 | | 941,00 |
| | | | | | |
| 7. | 2 x 4 Treated | | | | |
| | 8' | 100 | 1,97 | | 197,00 376,00 814,00 529,00 |
| | 10' | 100 | 3,76 | | 376,00 |
| | 12' | 200 | 4.07 | | 8/4,00 |
| | 14' | 100 | 5,79 | | 529,00 |
| | 16' | 100 | 1,97 3,76 4,07 5,39 5,59 | | 559,00 |
| | 0 (7) | | | | |
| 8. | 2 x 6 Treated | 100 | 281 | | 28/00 |
| | 8' | 100 | 5/8 | | 5/8-00 |
| | 10' | 100 | 3.81 5.18 5.64 7.35 | | 56400 |
| | 12' | 100 | 735 | - | 73500 |
| | 14' 16' | 50 | 7,62 | | 38/,00 518,00 564,00 735,00 38/,00 |
| | 10 | 30 | // - | | 30 % |
| 9. | 2 x 8 Treated | | | | |
| | 8' | 100 | 5,14 | | 514,00 |
| | 10' | 100 | 7.62 9.80 | | 706,00 |
| | 12' | 100 | 7.62 | | 762.00 |
| • | 14' | 100 | 9.80 | | 980,00 |
| | 16' | 50 | 10,09 | | 514,00 706,00 762,00 980,00 514,60 |
| A | | | | | |
| 10. | 2 x 10 Treated | 50 | 649 | | 77450 |
| , | 8' | 100 | 5,49 | | 791,00 |
| | 10' | 100 | 9.01 | | 191,00 |
| | 12' | 50 | 13,08 | | 654,00 |
| | 14' | 50 | 13,01 | | 600,50 |
| | 16' | 30 | 12. | | 600,5 |
| 11. | 2 x 12 Treated | | | | |
| | 8' | 50 | 7,53 | | 376.50 |
| | 10' | 50 | 9,34 | | 467,00 |
| • | 12' | 50 | 11,58 | | 579.00 |
| | 14' | 100 | 15,10 | | 15-70,00 |
| | 16' | 100 | 16,00 | | 376,50 467,00 579.00 1570,00 1,600,00 |
| | | | | | |
| - | Lumber Sheet Material | | | | |
| 12. | 7/16" x 4 x 8 OSB Board | 300 | 6.97 | | 2,091.00 |
| 13. | 3/4" x 4 x 8 OSB Board | 200 | 12.97 | | 2,594,00 |
| 14. | ½" x 4 x 8 Plywood CDX | 300 | 11,67 | | 3,501.00 |
| 15. | 5/8" x 4 x 8 Plywood CDX | 300 | 16,09 | | 4,827,00 |
| 16. | ³¼" x 4 x 8 Plywood CDX | 200 | 16,09 | | 3,954,00 |
| 17. | ³ / ₄ " x 4 x 8 Treated Plywood | 100 | 33,83 | | 3,594,00 3,501.00 4,897,00 3,954,00 3,383,00 1190,00 |
| 18. | 1/4" x 4 x 8 Oak Plywood #1 Grade | 50 | 23,80 | | 1190 00 |

| ITEM # | DESCRIPTION | APPROX. ANNUAL USAGE | UNIT COST | % Mark Up | EXTENDED COST |
|--------|--|----------------------------|----------------|--------------|--|
| 19. | ½" x 4 x 8 Oak Plywood #1 Grade | 100 | 36,74 | | 3,674,00 |
| 20. | ³ / ₄ " x 4 x 8 Oak Plywood #1 Grade | | 44.29 | | 4,429,0 |
| 21. | #1 Oak Lumber #1 Grade | | | | |
| | Lengths | | | | |
| | 8' × 6 " | 60 | 5,50 | | 330,00 540.00 660,00 |
| | 10' ×8" | 60 | 9,00 | | 540.00 |
| | 12' × 10" | 60 | 11.00 | | 660,00 |
| | Widths | | | | |
| 90 | 6" | 60 | 0- | | |
| | 8" | 60 | 1// | | |
| le. | 10" | 60 | 16 | VISEZ | |
| | 12" | 60 | | | |
| | | | ¥ 1 30 | ic i | |
| 22. | ½" x 4 x 8 Pine BC Plywood | 50 | 20,36 | | (1018,00 |
| 23. | ¾" x 4 x 8 Pine BC Plywood | 50 | 26,91 16,97 | | 1,018,00 1,345,50 848,50 385,50 1,714,00 |
| 24. | 1/4" x 4 x 8 Pine BC Plywood | 50 | 16.97 | | 848,50 |
| 25. | ½" x 4 x 8 Drywall | 50 | 5,71 | | 285,50 |
| 26. | ½" x 4 x 12 Drywall | 200 | 8,57 | | 1,714,00 |
| 27. | ½" x 4 x 8 Moisture Res. Drywall | 50 | 8,38 | | 419,00 |
| 28. | 5/8" x 4 x 8 Drywall | 50 | 6,48 | | 324,00 |
| 29. | 5/8" x 4 x 12 Drywall | 50 | 10,00 | | 500,00 |
| 30. | 5/8" x 4 x 12 Fire Rated Drywall | 100 | 10,00 | | 1,000,00 |
| 31. | Mesh Drywall Tape | 20 | 3,89 | | 77.80 |
| 32. | Paper Drywall Tape | 20 | 1,55 | | 31,00 |
| 33. | Drywall Spackling Compound – 5 gallon | 20 | 13,11 | | 262,20 |
| 34. | Drywall Taping Compound – 5 gallon | 20 | 13. " | | 262,20 |
| 35. | 1-1/4" Drywall Screws – 25 lb. | 2 | 49.74 | | 99,48 |
| 36. | 1-1/2" Drywall Screws – 25 lb. | 2 | 49,74 | | 99,48 |
| 37. | 2" Drywall Screws – 25 lb. | 2 | 49,74 | | 99.48 |
| 38. | 2-1/2" Drywall Screws – 25 lb. | 2 | 49,74 | ±1 | 99.48 |
| 39. | 3" Drywall Screws – 25 lb. | 2 | 49,74 | | 99,48 |
| 40. | 15# Roofing Felt – Rolls | 40 | 19.50 | | 780,00 |
| 41. | 30# Roofing Felt – Rolls | 20 | 19.50 | | 390,00 |
| 42. | 3 Tab − 25 year Roofing Shingles priced per square | 60 sq. | 72.75 | | 4,365,00 |
| 43. | Metal Roofing – Various. Colors – 12' Lengths | 60 | 24,72 | | 1,483,20 |
| 44. | ½" x 4 x 8 Insulated Wall Sheeting | 200 | 8,52 | | 1,704,00 |
| 45. | R-11 Roll Insulation (per roll) | 100 | 21.16 | | 2,116,00 |
| 46. | R-19 Roll Insulation (per roll) | 100 | 15.67 | | 1,567.00 |
| 47. | R-38 Roll Insulation (per roll) | 50 | 33,78 | | 1,664,00 |
| | | | | | |
| | | | | | |

Rev. 09/08

State of West Virginia

VENDOR PREFERENCE CERTIFICATE

Certification and application* is hereby made for Preference in accordance with **West Virginia Code**, §5A-3-37. (Does not apply to construction contracts). **West Virginia Code**, §5A-3-37, provides an opportunity for qualifying vendors to request (at the time of bid) preference for their residency status. Such preference is an evaluation method only and will be applied only to the cost bid in accordance with the **West Virginia Code**. This certificate for application is to be used to request such preference. The Purchasing Division will make the determination of the Resident Vendor Preference, if applicable.

| <u>X</u> | Application is made for 2.5% resident vendor preference for the reason checked: Bidder is an individual resident vendor and has resided continuously in West Virginia for four (4) years immediately preceding the date of this certification; or, Bidder is a partnership, association or corporation resident vendor and has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or 80% of the ownership interest of Bidder is held by another individual, partnership, association or corporation resident vendor who has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately |
|-------------------|--|
| | preceding the date of this certification; or , Bidder is a nonresident vendor which has an affiliate or subsidiary which employs a minimum of one hundred state residents and which has maintained its headquarters or principal place of business within West Virginia continuously for the four (4) years immediately preceding the date of this certification; or , |
| <u>2.</u> | Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a resident vendor who certifies that, during the life of the contract, on average at least 75% of the employees working on the project being bid are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or, |
| 3. | Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a nonresident vendor employing a minimum of one hundred state residents or is a nonresident vendor with an affiliate or subsidiary which maintains its headquarters or principal place of business within West Virginia employing a minimum of one hundred state residents who certifies that, during the life of the contract, on average at least 75% of the employees or Bidder's affiliate's or subsidiary's employees are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or, |
| 4. | Application is made for 5% resident vendor preference for the reason checked: Bidder meets either the requirement of both subdivisions (1) and (2) or subdivision (1) and (3) as stated above; or, |
| 5. | Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is an individual resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard and has resided in West Virginia continuously for the four years immediately preceding the date on which the bid is submitted; or, |
| 6. | Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is a resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard, if, for purposes of producing or distributing the commodities or completing the project which is the subject of the vendor's bid and continuously over the entire term of the project, on average at least seventy-five percent of the vendor's employees are residents of West Virginia who have resided in the state continuously for the two immediately preceding years. |
| require agains | understands if the Secretary of Revenue determines that a Bidder receiving preference has failed to continue to meet the ements for such preference, the Secretary may order the Director of Purchasing to: (a) reject the bid; or (b) assess a penalty st such Bidder in an amount not to exceed 5% of the bid amount and that such penalty will be paid to the contracting agency such Bidder in any unpaid balance on the contract or purchase order. |
| the red | omission of this certificate, Bidder agrees to disclose any reasonably requested information to the Purchasing Division and rizes the Department of Revenue to disclose to the Director of Purchasing appropriate information verifying that Bidder has paid quired business taxes, provided that such information does not contain the amounts of taxes paid nor any other information ed by the Tax Commissioner to be confidential. |
| | r penalty of law for false swearing (West Virginia Code, §61-5-3), Bidder hereby certifies that this certificate is true ccurate in all respects; and that if a contract is issued to Bidder and if anything contained within this certificate ges during the term of the contract, Bidder will notify the Purchasing Division in writing Immediately. |
| Bidde | or: The Home Depot Signed: |
| Date: | 10-18-11 Title: Special ty ASM |
| *Check | any combination of preference consideration(s) indicated above, which you are entitled to receive. |

| RFQ No. | DPS1205 |
|---------|---------|
| | |

STATE OF WEST VIRGINIA **Purchasing Division**

PURCHASING AFFIDAVIT

West Virginia Code §5A-3-10a states: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owed is an amount greater than one thousand dollars in the aggregate.

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions. "Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities. "Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION: The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

Under penalty of law for false swearing (West Virginia Code §61-5-3), it is hereby certified that the vendor affirms and acknowledges the information in this affidavit and is in compliance with the requirements as stated.

QUOTE Store 4802 CHARLESTON, WV 100 CROSS TERRACE BLVD CHARLESTON, WV 25309

Phone: (304) 744-9501 Salesperson: BSY8RI

Reviewer:

| Name WE | ST VIRGINIA ST | ATE P | OLI TARA I | _YLE | Home Phone (304) 746-2141 |
|------------|------------------|-------|------------|-----------------|------------------------------|
| Address | 4124 KANAWHA TPK | Ε | | Work Phone | (304) 558-2544 |
| | | | | Company Nam | е |
| City | S CHARLESTON | | | Job Description | BUILDING MATERIALS QUOTE |
| State | WV | Zip | 25309-2210 | County KANA | WHA |

QUOTE

2011-10-18 12:32

Prices Valid Thru: 10/25/2011

| CUST | OMER P | ICKUP | #1 | MERCHANDISE AND SERVICE SUMMARY We re | eserve th to custom | e right to limit the quantiti ners | es of merchandise |
|----------|------------|-------------|-----|---|------------------------|---------------------------------------|-------------------|
| | | | | REF # W87 SKU # 515-664 Customer Pickup / Will Call | | | . 155 |
| STOCK ME | ERCHANDISE | E TO BE PIC | KED | UP: | | | |
| REF# | SKU | QTY | UM | DESCRIPTION | TAX | PRICEFACH | EXTENSION |
| R01 | 161-659 | 300.00 | EA | 2X4-10FT. STD/BTR KD-HT SPF / | N | \$2.90 | \$870.00 |
| R02 | 161-667 | 300.00 | EA | 2X4-12FT. STD/BTR KD-HT SPF / | ATT | | \$1,173.00 |
| R03 | 161-683 | 100.00 | EA | 2X4-16FT. STD/BTR KD-HT SPF / | EN | \$5.22 | \$522.00 |
| R04 | 569-062 | 500.00 | EA | 2X4-92 5/8 KD WW STUD / | N | \$2.45 | \$1,225.00 |
| R05 | 161-640 | 300.00 | EA | 2X4-96IN. PREMIUM KD WW STUD / | N | \$2.45 | \$735.00 |
| R06 | 161-721 | 200.00 | EA | 2X6-10FT. #2/BTR KD-HT SPF / | N | \$5.27 | \$1,054.00 |
| R07 | 161-756 | 200.00 | EA | 2X6-12FT. #2/BTR KD-HT SPF / | N | \$6.32 | \$1,264.00 |
| R08 | 161-799 | 100.00 | EA | 2X6-16FT. #2/BTR KD-HT SPF / | N | \$8.43 | \$843.00 |
| R09 | 161-713 | 200.00 | EA | 2X6-8FT. #2/BTR KD-HT SPF / | N | \$4.37 | \$874.00 |
| R10 | 161-896 | 200.00 | EA | 2X8-10FT PREMIUM FIR / | N | \$6.53 | \$1,306.00 |
| R11 | 161-926 | 200.00 | EA | 2X8-12FT PREMIUM FIR / | N | \$7.83 | \$1,566.00 |
| R12 | 201-088 | 100.00 | EA | 2X8-16FT PREMIUM ER/ | N | \$10.44 | \$1,044.00 |
| R13 | 161-861 | 200.00 | EA | 2X8-8FT PREMUM PHR / | N | \$5.22 | \$1,044.00 |
| | | | | | | *** CONTINUED ON | NEXT PAGE *** |

NIOTI VAILITA

FOR WILL CALL MERCHANDISE PICK-UP PROCEED TO WILL CALL OR SERVICE DESK AREA

(Pro Customers, Proceed To The Pro Desk)

* Indicates item markdown **Customer Copy**

| CUS | STOMER | PICKUF | #1 | | | |
|-------|---------|--------|---------------------------------------|----------------|--------------------|---------------|
| | (Contin | ued) | REF #W87 | | | |
| R14 | 835-677 | 100.00 | EA 2X10-10FT PREMIUM FIR / | N | \$8.10 | \$810.00* |
| R15 | 161-993 | 200.00 | EA 2X10-12FT PREMIUM FIR / | N | \$9.72 | \$1,944.00* |
| R16 | 201-673 | 100.00 | EA 2X10-16FT PREMIUM FIR / | N | \$12.96 | \$1,296.00* |
| R17 | 201-513 | 100.00 | EA 2X10-8FT PREMIUM FIR / | N | \$6.48 | \$648.00* |
| R18 | 662-496 | 50.00 | EA 2X12-10FT PREMIUM FIR / | N | \$11.76 | \$588.00* |
| R19 | 201-706 | 100.00 | EA 2X12-12FT PREMIUM FIR / | N | \$14.12 | \$1,412.00* |
| R20 | 201-785 | 50.00 | EA 2X12-16FT PREMIUM FIR / | N | \$18.82 | \$941.00* |
| R21 | 662-186 | 100.00 | EA 2X12-8FT PREMIUM FIR / | N | \$9.41 | \$941.00* |
| R22 | 124-380 | 100.00 | EA 2X4-10 PT #2 PRIME-WEATHERSHIELD / | N | \$3.76 | \$376.00* |
| * R23 | 168-161 | 200.00 | EA 2X4-12 PT #2 PRIME-WEATHERSHIELD / | ² N | \$4.07 | \$814.00* |
| R24 | 124-479 | 100.00 | EA 2X4-16 PT #2 PRIME-WEATHERSHIELD / | N | \$5.59 | \$559.00* |
| R25 | 218-458 | 100.00 | EA 2X4-8 #2 PT / | N | \$1.97 | \$197.00 |
| R26 | 124-884 | 100.00 | EA 2X6-10 PT #2 PRIME-WEATHERSHIELD / | N | \$5.18 | \$518.00* |
| R27 | 168-746 | 100.00 | EA 2X6-12 PT #2 PRIME-WEATHERSHIELD / | N | \$5.64 | \$564.00* |
| R28 | 125-597 | 50.00 | EA 2X6-16 PT #2 PRIME-WEATHERSHIELD / | N | \$7.62 | \$381.00* |
| R29 | 168-335 | 100.00 | EA 2X6-8 PT #2 PRIME-WEATHERSHIELD / | N | \$3.81 | \$381.00* |
| R30 | 127-084 | 100.00 | EA 2X8-10 PT #2 PRIME-WEATHERSHIELD / | N | \$7.06 | \$706.00* |
| R31 | 127-713 | 100.00 | EA 2X8-12 PT #2 PRIME-WEATHERSHIELD / | N | \$7.62 | \$762.00* |
| R32 | 128-340 | 50.00 | EA 2X8-16 PT #2 PRIME-WEATHERSHIELD / | N | \$10.29 | \$514.50* |
| R33 | 128-372 | 100.00 | EA 2X8-8 PT #2 PRIME-WEATHERSHIELD / | N | \$5.14 | \$514.00* |
| R34 | 255-709 | 100.00 | EA 2X10-10 #2 WEATHERSHIELD / | N | \$7.91 | \$791.00* |
| R35 | 255-781 | 100.00 | EA 2X10-12 #2 WEATHERSHIELD / | N | \$9.01 | \$901.00* |
| R36 | 255-957 | 50.00 | EA 2X10-16 #2 WEATHERSHIELD / | N | \$12.01 | \$600.50* |
| R37 | 155-465 | 50.00 | EA 2X10-8 #2 WEATHERSHIELD / | N | \$5.49 | \$274.50* |
| R38 | 255-988 | 50.00 | EA 2X12-10 #2 WEATHERSHIELD / | N | \$9.34 | \$467.00* |
| R39 | 155-959 | 50.00 | EA 2X12-12 #2 WEATHERSHIELD / | N | \$11.58 | \$579.00* |
| R40 | 155-961 | 100.00 | EA 2X12-16 #2 WEATHERSHIELD / | N | \$16.00 | \$1,600.00* |
| R41 | 255-974 | 50.00 | EA 2X12-8 #2 WEATHERSHIELD / | N | \$7.53 | \$376.50* |
| R42 | 386-081 | 300.00 | EA 7/16 4X8 OSB / | N | \$6.97 | \$2,091.00 |
| R43 | 920-924 | 200.00 | EA 23/32 OR 3/4 4X8 OSB T/G / | N | \$12.97 | \$2,594.00 |
| R44 | 166-073 | 300.00 | EA 15/32 4X8 RTD SHEATHING-3 PLY / | N | \$11.67 | \$3,501.00 |
| R45 | 166-081 | 300.00 | EA 19/32 4X8 RTD SHEATHING-SYP / | N | \$16.09 | \$4,827.00* |
| R46 | 166-103 | 200.00 | EA 23/32 4X8 RTD SHEATHING-SYP / | N | \$19.77 | \$3,954.00 |
| R47 | 567-000 | 100.00 | EA 23/32 4X8 PT CCX / | N | \$33.83 | \$3,383.00* |
| | | | | | *** CONTINUED ON N | IEXT PAGE *** |

| CU | STOMER | PICKUI | #1 | | | |
|-----|---------|--------|--|---|---------|-------------|
| | (Contin | nued) | REF #W87 | | | |
| R49 | 166-014 | 50.00 | EA 1/4 4X8 BC SANDED PINE / | N | \$16.97 | \$848.50* |
| R50 | 166-030 | 50.00 | EA 15/32 4X8 BC SANDED PINE / | N | \$20.36 | \$1,018.00* |
| R51 | 166-057 | 50.00 | EA 23/32 4X8 BC SANDED PINE / | N | \$26.91 | \$1,345.50* |
| R52 | 982-577 | 50.00 | EA 1/2" 4X8 SHEETROCK MOLD TOUGH / | N | \$8.38 | \$419.00* |
| R53 | 893-749 | 50.00 | EA 1/2" 4X8' SHEETROCK ULTRALIGHT / | N | \$5.71 | \$285.50* |
| R54 | 897-148 | 200.00 | EA 1/2"4'X12' SHEETROCK ULTRALIGHT / | N | \$8.57 | \$1,714.00* |
| R55 | 419-109 | 50.00 | EA 5/8IN 4X8 FIRE CODE DRYWALL / | N | \$6.48 | \$324.00* |
| R56 | 419-144 | 20.00 | EA 5GAL TOPPING JOINT COMPOUND-61.7# / | N | \$13.11 | \$262.20* |
| R57 | 258-725 | 20.00 | EA 61.7# ALL-PURPOSE PAIL READY MIX / | N | \$13.11 | \$262.20* |
| R58 | 483-689 | 20.00 | EA 1-7/8X300FT SELF STICK TAPE-WHITE / | Ŋ | \$3.89 | \$77.80* |
| R59 | 258-423 | 20.00 | EA 250FT ROLL JOINT TAPE-EA / | N | \$1.55 | \$31.00 |
| R60 | 234-633 | 2.00 | EA 1-1/4" COARSE DRYWALL BUCKET 25 LB / | N | \$49.74 | \$99.48 |
| R61 | 233-671 | 2.00 | EA 1-5/8" COARSE DRYWALL BUCKET 25 LB / | N | \$49.74 | \$99.48 |
| R62 | 367-076 | 2.00 | EA 2" COARSE DRYWALL SCREW 25LB BUCKET / | N | \$49.74 | \$99.48 |
| R63 | 367-827 | 2.00 | EA 2-1/2 COARSE DRYWALL SCREW 25LB BKT / | N | \$49.74 | \$99.48 |
| R64 | 367-848 | 2.00 | EA 3 COARSE DRYWALL SCREW 25LB BKT / | N | \$49.74 | \$99.48 |
| R65 | 258-830 | 40.00 | RL 15# FELT-432 SQ.FT. / | N | \$19.50 | \$780.00 |
| R66 | 258-881 | 20.00 | RL 30# FELT-216 SQ.FT. / | N | \$19.50 | \$390.00 |
| R67 | 929-291 | 180.00 | BD 25YR CHARCOAL SOVEREIGN / | N | \$24.25 | \$4,365.00* |
| R68 | 409-923 | 200.00 | EA 1/2IN 4X8 FOAMULAR / | N | \$8.52 | \$1,704.00* |
| R69 | 608-028 | 100.00 | EA E/O R19 KF 15"X39' ROLL 48.96 SF / | N | \$15.67 | \$1,567.00 |
| R71 | 914-770 | 100.00 | EA 1X6 - 8 NO.2 WHITEWOOD / | N | \$4.14 | \$414.00* |
| R72 | 914-843 | 100.00 | EA 1X8 -10 NO.2 WHITEWOOD / | N | \$5.92 | \$592.00* |
| R73 | 914-924 | 100.00 | EA 1X10-12 NO.2 WHITEWOOD / | N | \$9.22 | \$922.00* |
| R74 | 165-956 | 100.00 | EA 3/4 4X8 OAK HARDWOOD PLY / | N | \$44.13 | \$4,413.00* |
| R75 | 617-334 | 480.00 | LF 1X6 R/L RED OAK S4S / | N | \$2.23 | \$1,070.40* |
| R76 | 617-342 | 600.00 | LF 1X8 R/L RED OAK S4S / | N | \$3.08 | \$1,848.00* |
| R81 | 201-625 | 100.00 | EA 2X10-14FT. #2/BTR KD-HT SPF / | N | \$11.34 | \$1,134.00* |
| R82 | 161-675 | 200.00 | EA 2X4-14FT. STD/BTR KD-HT SPF / | N | \$4.57 | \$914.00* |
| R83 | 161-772 | 100.00 | EA 2X6-14FT. #2/BTR KD-HT SPF / | N | \$7.38 | \$738.00* |
| R84 | 505-876 | 100.00 | EA 2X8-14FT. #2/BTR KD-HT SPF / | N | \$9.13 | \$913.00* |

| CUSTOMER PICKUP #1 | | | |
|--|-------|-------------------|--------------|
| (Continued) REF #W87 | | | |
| S.O. MERCHANDISE TO BE PICKED UP: S/O BABCOCK LUMBER REF # S77 | | | |
| S7701 211-191 100.00 EA 1x12-16 #2 grad / 1x12-16 #2 grade 211-191 S/O BABCOCK LUM / 1x12-16 #2 | N | \$15.70 | \$1,570.00 |
| S7702 211-191 100.00 EA 1/2" oak ply #1 / 1/2" oak ply #1 grade 211-191 S/O BABCOC / 1/2" 4x8 oak plywo | od N | \$36.74 | \$3,674.00 |
| S.O. MERCHANDISE TO BE PICKED UP: S/O WV METAL REF # S78 WHOLESALERS | | | |
| S7801 546-370 720.00 LF max-life 29ga. / max-life 29ga. 40yr paint S/O WV METAL W / (60) pcs. of 29 gauge max-life metal roofing, 40 year paint warranty @ 12' per pc. | e N | \$2.06 | \$1,483.20 |
| S.O. MERCHANDISE TO BE PICKED UP: S/O OWENSCORNING REF # S79 SLS,LLC | | | |
| S7901 583-042 100:00 PC M16A / M16A R-11 Unfaced 3-1/2 in x 15 in. x 94 / R-11 Unfaced 3-1/2 in x 15 in. x 94 / R-11 Unfaced 3-1/2 in x 15 in. x | (N° | \$21.16 | * \$2,116.00 |
| S7902 583-042 50.00 PC W64 / W64 R-38 Unfaced 12 in. x 16 in. x 48 in / R-38 Unfaced 12 in. x 16 in. x 48 Batts in Bag Insulation MODELID W64 | in. N | \$33.28 | \$1,664.00 |
| VENDOR - SPECIAL INSTRUCTIONS: STORE-FREIGHT INCL - STORE-FRGHT INCL | | | |
| S.O. MERCHANDISE TO BE PICKED UP: S/O EAST TENN FOREST REF # S80 LLC | | | |
| S80FR 583-042 1.00 | Y | | |
| S8005 318-307 50.00 EA 2x12-14' / 2x12-14' 318-307 S/O DIMENSION LBR - EAS / 2x12-14' dimensional | N | \$10.35 | \$517.50 |
| S8006 318-307 100.00 EA 2x4-14' pt / 2x4-14' pt 318-307 S/O DIMENSION LBR - E / 2x4-14' pt | N | \$5.29 | \$529.00 |
| S8007 318-307 100.00 EA 2x6-14' pt / 2x6-14' pt 318-307 S/O DIMENSION LBR - E / 2x6-14' pt | N | \$7.35 | \$735.00 |
| S8008 318-307 100.00 EA 2x8-14' pt / 2x8-14' pt 318-307 S/O DIMENSION LBR - E / 2x8-14' pt | N | \$9.80 | \$980.00 |
| S8009 318-307 50.00 EA 2x10-14' pt / 2x10-14' pt 318-307 S/O DIMENSION LBR - / 2x10-14' pt | N | \$13.08 | \$654.00 |
| S8010 318-307 100.00 EA 2x12-14' pt / 2x12-14' pt 318-307 S/O DIMENSION LBR - / 2x12-14' pt | N | \$15.70 | \$1,570.00 |
| S.O. MERCHANDISE TO BE PICKED UP: S/O VALLEY GYPSUM REF # S86 | | | |
| S8601 340-154 50.00 EA 5/8 x 4 x 12 / 5/8 x 4 x 12 S/O DRYWALL DELIVERY / 5/8 x 4 x 12 | N | \$10.00 | \$500.00 |
| S8602 340-154 100.00 EA 5/8 x 4 x 12 fi / 5/8 x 4 x 12 fire rated S/O DRYWALL DELI / 5/8 x 4 x 12 fire rated | N | \$10.00 | \$1,000.00 |
| SCHEDULED PICKUP DATE: Will be scheduled upon arrival of all S/O Merchandise | MERC | HANDISE TOTAL: | \$83,175.50 |
| | * | ** CONTINUED ON N | EXT PAGE *** |

CUSTOMER PICKUP #1 (Continued) **REF #W87 END OF CUSTOMER PICKUP - REF #W87 CUSTOMER PICKUP #2 REF # W90** SKU # 515-664 Customer Pickup / Will Call S.O. MERCHANDISE TO BE PICKED UP: S/O BABCOCK LUMBER **REF # S88** S8801 211-191 100.00 EA 3/4 4x8 oak ply / 3/4 4x8 oak plywood 211-191 S/O BABCOCK / 3/4 4x8 oak plywood \$43.29 \$4,329.00 S.O. MERCHANDISE TO BE PICKED UP: S/O EAST TENN FOREST **REF # S89** LLC EA 1x8x10 pine / 1x8x10 pine 318-307 S/O DIMENSION LBR - / 1x8x10 pine S8901 318-307 100.00 N \$4.00 \$400.00 S8902 * 318-307 100.00 EA 1x6x8 pine / 1x6x8 pine 318-307 S/O DIMENSION LBR - E / 1x6x8 pine N \$3.00 * \$300.00 S8903 318-307 60.00 EA 1x6x8 oak / 1x6x8 oak 318-307 S/O DIMENSION LBR - EA / 1x6x8 oak N \$5.50 \$330.00 S8904 318-307 60.00 EA 1x8x10 oak / 1x8x10 oak 318-307 S/O DIMENSION LBR - E / 1x8x10 oak N \$9.00 \$540.00 SCHEDULED PICKUP DATE: Will be scheduled upon arrival of all S/O Merchandise MERCHANDISE TOTAL: \$5,899.00 **END OF CUSTOMER PICKUP - REF #W90 CUSTOMER PICKUP #3 REF # W92** SKU # 515-664 Customer Pickup / Will Call STOCK MERCHANDISE TO BE PICKED UP: REF# SKU QTY DESCRIPTION TAX PRICE EACH **EXTENSION** R91 165-948 50.00 EA 1/4" 4X8 OAK HARDWOOD PLYWOOD / N \$23.80 \$1,190.00* SCHEDULED PICKUP DATE: 10/31/2011 MERCHANDISE TOTAL: \$1,190.00 **END OF CUSTOMER PICKUP - REF #W92**

Customer Pickup / Will Call

REF # W94

SKU # 515-664

CUSTOMER PICKUP #4

Page 6 of 6

No. 4802-101769

| CUSTOMER PICKUP #4 (Continued) | | | 9 #4 | | | | | |
|--------------------------------|------------|-------------|-------|---|------------------|------------|-----------------|------------|
| | | | | REF #W94 | | | | |
| S.O. MERC | HANDISE TO | BE PICKE | D UP: | S/O EAST TENN FOREST REF # S93 LLC | | | | |
| S9301 | 318-307 | 100.00 | EA | 1x10x12 pine / 1x10x12 pine 318-307 S/O DIMENSION LBR | - / 1x10x12 pine | N | \$7.00 | \$700.00 |
| S9302 | 318-307 | 60.00 | EA | 1x10x12 oak / 1x10x12 oak 318-307 S/O DIMENSION LBR - | / 1x10x12 oak | N | \$11.00 | \$660.00 |
| SCHEDULE | D PICKUP D | ATE: Will b | e sch | eduled upon arrival of all S/O Merchandise | | MERCHA | NDISE TOTAL: | \$1,360.00 |
| | | | | | END OF | CUSTOMER P | ICKUP - REF #W9 |)4 |

| TOTAL CHARGES OF ALL MERCHANDISE & SERVICES | TOTAL CH | HARGES OF | ALL | MERCHANDISE & | & SERVICES |
|---|----------|-----------|-----|---------------|------------|
|---|----------|-----------|-----|---------------|------------|

| ORDER TOTAL | \$108,617.20 |
|-------------|-----------------|
| SALES TAX | . \$0.00 |
| TOTAL | \$108,617.20 |
| BALANCE DUE | \$108,617.20 |

END OF ORDER No. 4802-101769

TERMS AND CONDITIONS

WILL CALL

Will Call items will be held in the store for 7 days. For Will Call merchandise pick up, proceed to Will Call/Service Desk area(Pro Customers, proceed to the Pro Desk).

Returns: A 15% restocking fee applies to the return of regular special orders, i.e., special orders merchandise that is not custom made. Special orders that are custom uniquely designed or fitted to accommodate the requirements of a particular space or environment (some examples are cabinetry, countertops, floor and wall coverings, and window treatments) are non-returnable. Exceptions: Cancellations made by midnight on the third business day after the date of Your purchase; merchandise incorrectly ordered by Home Depot or by Professional; or merchandise damaged beyond repair in delivery or by Professional. Unless otherwise specified in this Agreement, all returns must be made within Home Depot's posted time frame.